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Unit 4 conditional, Independent, binomial, Probability from TaI;I”es
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A medical researcher surveyed a large group of men and women about whether they take medicine as

prescribed. The responses were categorized as never, sometimes, or always. The relative frequency of
each category is shown in the table.

Never Sometimes Always Total
Men 0.0564 0.2016 0.2120 0.4700
Women 0.0636 0.1384 0.3280 0.5300
Total 0.1200 0.3400 0.5400 1.0000

5 P j: (a) One person from those surveyed will be selected at random.

e (i) What is the probability that the person selected will be someone whose response is never

@ and who is a woman?

P(V\Qvg( owd WOW\&&\ = W06 3(0

(i) What is the probability that the person selected will be someone whose response is never or
who is a woman?

P(never ov Wowsan) = , |30u + oS 3U0 = ,0b36>

«BX, S¥Y

given that the person is a woman?

(never \ womany = Plnever ard women) L rue3s | Y
P ((wWortny sy =~ °

(b) For the people surveyed, are the events of being a person whose response is never and being a
gfI woman independent? Justify your answer.

Oo (iii) What is the probability that the person selected will be someone whose response is never

-2

wornean) = P(mver aud Womean |

* $2> =, 036> @
c VL3 = , 0l o vents ar T'WQ,GW.\
C P r (c) Assume that, in a large population, the probability that a person will always take medicine as ‘

prescribed is 0.54. If 5 people are selected at random from the population, what is the probability that
at least 4 of the people selected will always take mediéirﬁxs prescribed? Support your answer.
-
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